B-Killer N°32C
Cod. 305432801

Inox bracket
Allen screw Cod. 0814115001
M6X20 T.C.E.l. Z.B.
Cod. 203508 Screw TBEI
M6x16
Silencer Cod. 204985
GPStyle

Cod. 308124475
With double net

Aluminium spacer
SBK SBK @27X8.5

(/

Cod. 204321 A\
Allen screw
M8X25 T.C.E.l. Z.B.
Cod. 200314
\]
Short helical spring '\”
tensile
Co0d.204387
Short tube in
silicon rubber
Cod.204412

Art. 14118B
DUCATI SCRAMBLER 800

Slip-on "GP-STYLE" Passaggio STANDARD
OMOLOGATO "EVOLUTION 11"

y
N

) )

(S

N
8 o
I\

. ’

lain washer 6x18
Cod. 200254

nurled collar nut M6
Cod. 200333

nurled collar nut M8
Cod. 200298

lain washer 8x24
Cod. 200321

Carbon bracket
Cod. 307777502

Gasket 57x25x1
Cod. 204980

% ‘[ '
')

Pipe N° 1068
Cod. 3014116201




